Multiplying Two Binomials (E)

Simplify each expression.

- (7p* + Bp)(9p° — 4p")

2. (=6n* + 2n)(=7n° — 4n*)

W

(v +4) (=700 + 8t

1 (—82° — 42%)(—8z — 5)

- (—6b + 4)(—8b* + 9b)

Ot

6. (4b* — 7b)(Th + 2)

EN |

- (—6¢” + 3¢)(—q + 6)

8. (2r% —4r)(=Tr +3)

0. (=5k + 7)(—k® 4 3k?)

10. (9% 4 7b?)(4b + 3)
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Multiplying Two Binomials (E) Answers

Simplify each expression.

- (7p* + 5p) (9p” — 4p")
— 63p” + 17p% — 20p°

(—6n* + 2n)(f7n5 — 4n?)
= 42n" 4+ 10n° — 8n°

O

5 (v +4)(=70" + 8uv?)
= —630° + 440° + 320*

(—82° — 42%) (=82 — 5)
— 6425 + 722° +202*

I

(@

(—6b + 4)(—8b* 4 9b)
— 480 — 86b% + 36b

6. (4b* — 7b)(Tb + 2)
— 2803 — 41b% — 14b

J

7. (—6q‘2 +3¢)(—q +6)
= 6¢° — 39¢*> + 18¢

0]

(2 —4r)(=Tr + 3)
= —14r° 4 341" — 12r

Ne)

(=5k + ) (=K + 3k?)
= 5k* — 22k3 + 21k?

10. (9b° + 7b%)(4b + 3)
— 36b* + 550° + 2112
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